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(@) —>n
I
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0) —n
I—
@ !
(0] —>n

‘0’ gIaq Yfigehi 1 ag=d, o g o gfag
R B, oofshn ¥ fa.ar.sd (emf), ‘B’ 3N 3m=aftsw
gfeie, ‘R i forelt 9t @ Ao 8 | St ot 1
g I 8 | 319 39 ‘n’ IfaUeshi 1 Uwd hA 0 3EH Sl
g frn S 1A S a A e 10 I &
It B | ‘n’ BT AN B

1 9

(2 20
3 11
(4) 10

(47 + 4-7) kQ TG % Foret Hreq-ufigs W, 98=m
= for, fafia ot & e sifera fopg ST 8 | a0t @i
T SHH BT

(1) B0 —af — S —gaaa

(2) e — g0 — T - gAEa

(8) e — St — ATl — =idt TT

(4) ST — e - Al - =T @

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
each) which are connected in series. The
terminals of the battery are short-circuited and
the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

I

(D T i
(@) —>n
I

(2) Tf
(@) —n
I

3 T i
o) —n
I—

@
(@) —>n

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is I.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

1 9

(2) 20
3 1
(4) 10

A carbon resistor of (47 + 4:7) kQ is to be marked
with rings of different colours for its
identification. The colour code sequence will be

(1) Green — Orange — Violet — Gold
(2)  Yellow — Green — Violet — Gold

(8) Yellow — Violet — Orange — Silver
(4) Violet — Yellow — Orange — Silver
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i & 9 oM defgcha wen § wfomm ww A fufei
A, B 3R C W s HArd AW K, K 3 K 7 |
AC & 317 2 7o 9 i feufa S W SB femmgem &

AT ACH A 3 | 99

(1) Kg>K,>Kq
(2) Kp<K,<Kq
(3) Kp>Kg>Kg
(4) Ky <Kg<Kg

Ife T 1 geIHH % T B AT WG TEcaTehyul
feerrep aftrmor # 10 1 &, @ Fefefad o | sH-a
wel T 72

(1) Yot W ‘g’ % 7 | ufad T8 g |

(2) YAl W WA AT 1 STEdHIA HH 8 S |
(3) Rt T =@ AU HiST B S |

(4) autH S ot W At oot & fih |

T I Tl dled hd H ® | dAled g H awg
T TS il (K,) o a-ane gquf 1ot Sl
(K,) +ff gt 8 | Tl & fU K, : (K, + K,) & 39«
g

1 2:5
(2) 10:7
3 5:7
4) 7:10

IS 3 TIAT Yok AT § 3191 Tufufa 3187 o ufa:
od 9 § YO R T 2 | 39 M I GEEH THE
T@d gu smh B # gfg fi 9t & 1 Ma & fo
fefafea & @ wia- fifos afy fer w2

(1) HofE g

(2) ooff wfas Het

(3) gcd el
(4) i am

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1) Kg>K,>Kg
(2) Kp<Kj<Kg
(3) Kp>Kg>Kg
4 Kp<Kg<Kg

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(1) ‘g’ on the Earth will not change.

(2) Time period of a simple pendulum on the
Earth would decrease.

(3) Walking on the ground would become more
difficult.

(4) Raindrops will fall faster.

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy

(K,) simultaneously. The ratio K; : (K; + K,) for
the sphere is

1) 2:5
(2 10:7
3 5:7
4) 7:10

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1) Angular momentum
(2) Rotational kinetic energy
(3) Moment of inertia

(4) Angular velocity
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10.

fopel ETiciTa ST9ad giaRieh 1 HIvE @ e
3R ol fasigd 3= g, AfE 38 gy o 6
(1) 8 g %9 3R =H Bl @

(2) iHE gl Al 3R = F1 2

(3) Wi gl ARk 3R =™ Bl 2

(4) HIHE g0 F 3 =A™ o1 2

AR W AT qere % foRHl EEAE g5 WIS
AGfed Th™ I H A9 wal 7 | TR famiw
MU BT ¢ W g 91 T foh watkad Rl 3R
Fuafdd fmul Th-gEt % aFed § | FefaRed | @
-4 fehed 39 feufa # @l @ 2

(1) i=tan! (lJ
u

(2) i=sin™t (EJ
n

(3) wafdd Yo gfad & iR 3@eh fogq «few
JATYH o qct o oIHead 8

(4) wEfdd Y gfad 8 3R e fogq @few
FYGH % dcl o THH &

I % fgferd s o, fafedt 3 o= 9ok d, 2 mm 2
Ton 5t ¥ 9€ 1 g D 1 100 cm @ §T TTeA
A = 5896 A % T T IUANT fomam T B | T URN
e fom fihatt <t whivii =erE 0-20° R | @9 (361 A 3R
D % forw) fisti 1 =hivfia =SS &1 age 0-21° &

% fore fafet & < % gere &6t e B
(1) 1-7mm
(2) 21mm
3) 19mm
4) 18 mm

10.

An astronomical refracting telescope will have
large angular magnification and high angular

resolution, when it has an objective lens of
(1) small focal length and small diameter
(2) large focal length and large diameter

(3) large focal length and small diameter

(4) small focal length and large diameter

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays are
Which of the

following options is correct for this situation ?

(1) i=tan! (1J
1)

(2) i=sin! (EJ
n

(3) Reflected light is polarised with its electric
vector perpendicular to the plane of
incidence

(4) Reflected light is polarised with its electric
vector parallel to the plane of incidence

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to

1) 1-'7mm
(2) 2:1mm
3) 19mm
(4) 1-8mm

LAACH/SS/Page 4

TF T o T8 UM / SPACE FOR ROUGH WORK

Hindi/English



11.

12,

13.

14.

foret ThTRHTU A| % AA (V) § A9 (T) & e
o=t % § S STgER BN @ | ofE e A #
STIET B dh WM hl Tisham 0 1 g fopu T Rt 3R

wésg‘r?msﬁﬁawmagm%
T B
A
0 —>T
D %
) %
® 2
@ 2

forelt go1 AT d1sd I g g R S AT
q1gY % gl U (ST i g % wHe 2 |
Ife g AT I18Y I Awg 20 cm 7, a1 Gl AN
q1gd hi TS BT

(1) 16cm

(2) 12-5cm

(3) 8cm

(4) 132cm

A o T I FaHh & s hrd fordi et

FSAT $9 I g&TaT Bt B
1) 12'5%

(2) 625%

(3) 20%

(4) 268%

fopg @ W A JTueT I i WIS WA (rms)
a1 gt o IYATSA ¥ TARH L Hehd o 0 A
Tt g1 et ?

(fem e 2

SIS % 37U T &HH (m) = 2-76 x 10726 kg
diegsH e ky = 1-38 x 10723 J K1)

(1) 1254x10*K

(2) 5016x10*°K

(3) 8360x10*K

4) 2508 x 10*K

11.

12,

13.

14.

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

\Y%

T

o

éT

(D

(2)

6))

4)

DN WM W~ <3|

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(1) 16cm

(2) 12-5cm
(3) 8cm
(4) 132cm

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

1) 12:5%

(2) 6:25%

3 20%

(4) 26-8%

At what temperature will the rms speed of

oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :

Mass of oxygen molecule (m) = 2-76 x 10726 kg
Boltzmann’s constant kg = 1:38 x 1022 g K_l)
(1) 1254x10*K
2 5016x10*K
3) 8360x10*K
4 2508x10*K
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15.

16.

17.

18.

ﬁéwwmmmq%mm
fogd-a9 E %mﬁ%ﬁaﬁmwﬁﬁiw
W IAHE B | T VS &k Fald H 9d q E &
RO ZGHT AT 0 ¥ 6 m/s B MG 7 | I 0
forega-a 1 fogum Sopfta w § S R | W oA *
E § R 3 S TehUS dh A Hdl Wl | 0 H
3 Tvs & o= fgeln wR &% shwd an i sfied
91 U 7

(1) 1-5m/s, 3m/s

(2) 1m/s, 3-5m/s

(3) 1m/s, 3m/s

(4) 2m/s, 4m/s

AFd BT 0 & fopdt faehd IMd 99 ABC W m
SEIHT o1 IS sl AR e 8 | 39 o I grff
IR HIg O ‘@’ feam Srar 8 | sctieh bl o9 W R
@ % fo1u a 3T 0 % i Geig g

A
2

C B
(1) a=gtan®
(2) a=gcos0

g
3 a=
(@) sin O
4) a=_—2
cosec 0

foreft BT 3 3T 1 g g < =" H WA 0-001 em
JCUAHR AT B IS g H | & 99H hl A
5 mm 3R FAF M H I Tl TaA | 25 WA
FR 2 | A T 9 § A IR — 0-004 cm 7, T 71Q
T TE A B

(1) 0-529 cm
(2) 0053 cm
(3) 0-525cm
(4) 0-521 cm

%

g (2,0, - 3) RFH@aa F =41 + 5] - 6k =1
fomg (2, — 2, — 2) % 9ia: el g

A A A
1) -7i-4j -8k

A A AN
2 -7i-8j -4k

A A JAN
3) —4i-j -8k

A A A
4) -8i-4j -7k

15.

16.

18.

A toy car with charge q moves on a frictionless
horizontal plane surfatg under the influence oga
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are
respectively

(1) 1-5m/s, 3m/s

(2) 1m/s, 3-5m/s

(3) 1m/s, 3m/s

(4) 2m/s, 4m/s

A Dblock of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 6

for the block to remain stationary on the wedge
is

A
2

——— o>

C B
(1) a=gtan6
(2) a=gcosH

a

g
3 a=
@) sin 0
4) a=—2
cosec 0

A student measured the diameter of a small steel
ball using a screw gauge of least count
0-:001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 c¢m, the correct
diameter of the ball is

(1) 0-529 cm
(2) 0053 cm
(3) 0525 cm
(4) 0521 cm

- A A A
The moment of the force, F =4i + 5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) —-7i-4j -8k
A A A
@ -7i-8j -4k
A A A
(3 -4i-j -8k
A A A
(4) -8i-4j -7k
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19.

20.

21.

22,

#E Fre g w1 PRt mem A A V = Vi @
T W g | e aw 39 fagg-grasde air @
fagqes Qo7 +y g & ogfewr B | 99

forga-grashia Tl o FEeehid & g ohi fewm Bl
(1) —xfem
2) —yfem
(3) +zfam
(4) —zfem

TorH Tk ¥ 60 mA hl 9T JaTed B W 39 Wb |
Tfud grash feufast St &1 91 25 mJ B | 39 3
T Yehed B

(1) 13-89H
(2) 1389 H
(3) 13888 H
(4) 0138H

#is T 15 cm B8 g & fohel ofaaa guwr &
40cm@mﬁ%%|aﬁsaﬁmaﬁa¢waﬁﬁmﬁ
20 cm TIFFARG F fean S, @ giafers foraft gl
o ferenfud & S 2
(1) 36cm3¢Wa5qTH
(2) 30 cm T % I
(3) 36 cm I H T
(4) 30cm‘6ﬁ'UTﬁ§

foreft firsm o ered o1 srwadi /2 3R fsm %1
30° 2 | fr5w & @ omad® ol H H wh I A
TgreRt i 1 3T gHor SR W @ | g o |
TOS A AT ThAUT YehTeT T hig G (GUUT ATl I8
¥ wWrafdd g9 % vETd) IEH 9 W I T e,
afe fism W Tue ST 1 A 2

1) 3

(2) 30°

(3) 45°

4)  60°

19.

20.

21.

22,

An em wave is propagating in a medium with a
velocity ;)7 = V/i\. The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1) —=xdirection

(2) -y direction

(8) + zdirection

(4) —zdirection

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance

(1) 13-89H
(2) 1-389H
(3) 13888 H
(4) 0138H

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be

(1) 36 cm towards the mirror

(2) 30 cm towards the mirror

(3) 36 cm away from the mirror

(4) 30 cm away from the mirror

The refractive index of the material of a prism is
J2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence

on the prism is

(1) zero
(2) 30°
(3) 45°
(4) 60°
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23.

24.

25.

fu U ufmy smm #, fEw deed (V) 20V,
Vpp =0T Vo =07 | I, I 3T o M Bl

20V

(1) Ig=40pA, Io=5mA, B=125

(2) Ig=20pA, Io=5mA, f=250
(3) Ig=25pA, Io=5mA, f=200

4) Ig=40uA, Ig=10mA, =250

forelt p-n @Y e@e # T B | a9 § diEH

(1) p-n @Y & Ty V - I 1f¥ycterr i gurfad s
2

(2) p-n @ % gfatie =6 gwrferd T8 s @ |
(3) had U YfqUy =l IHIfd Hal ® |
(4) et gopd (Tad) gfetiy st wifaa »tar 2 |

fomr 9 few w 71Et & wEeE | ffa Y o et A et
B % el § 39 YR o foha T Hehal B

Ae

. b
Be ( > Y
(1) A+B
2 A.B+A.B
3 A.B+A.B
4 A.B

23.

24.

25.

In the circuit shown in the figure, the input
voltage V; is 20 V, Vg = 0 and Vg = 0. The

1

values of I, Iy and B are given by
20V

(1) Iz=40uA, Io=5mA, p=125

(2) Ig=20uA, Ig=5mA, f=250

(3) Ig=25pA, Ig=5mA, B =200

4) Ig=40pA, Io=10mA, B =250

In a p-n junction diode, change in temperature
due to heating

(1) affects the overall V — I characteristics of
p-n junction

(2) does not affect resistance of p-n junction

(38) affects only forward resistance

(4) affects only reverse resistance

In the combination of the following gates the

output Y can be written in terms of inputs A and
B as

Ae C

Be [ > Y
>

(1) A+B

(20 A.B+A.B

3 A.B+A.B

4 A.B
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26.

27.

28.

29.

foreht wfsren g fafsefa wifem P 2 qon o7 e,
Ay T 3Tfeehan Hat fafeRla w3 | o AR =

ISR 1 A9 gREfia & fen s g, we 76 9
%xoa@ﬁzﬁmaﬁwwfﬁr&sﬁamé,a

3% g fafeplta wiferd nP &1 STl @ | n <1 7 BAT

81
256
256
81

(D
(2)
3

4)

g AR U ggred o &4 g SR gEI o Tad ot wum
g | 95 AR 1 STIRY-HE H &THA A 3R gW AR
I FTIEI-HE H FTFA 3A 7 | I 5@ F et
UEe R I AR H AL H glg h I 7, 9@ gE AR
Sl awerg H o g & gig H b AT fhdd W Al
JTETAHAT B 2

1) F

o |

(2)
(3
(4)

4F
6F
9F

M g (1:013 x 10° Nm™2) 3R 100°C a9 W
0-1 g I % I &I 100°C ht 919 H giEafda w &
I 54 hell ST Holl I STEYIHRAT BT B | AR
3O WY H AFAT 167-1 cc B, 9 39 THI H
Feh ol § qiEad &

(D
(2)
3
(4)

84:5J
42:2J
208-7J
104-3J

s o o1 g @Y e formmaEen ¥ foeft v ga
ficar 8 | W9 o & RO 3HA FEAT 39 BT R |
M & Sifm (efilFd) a9 | 3oqa o= @il

fr=fafaa & & foraeh SpATUT Bret B 2
(D r*
(2) P
3)
(4) 2

26.

27.

28.

29.

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength % Ao, the power radiated by it

becomes nP. The value of n is
81

256

256

81

(1)

(2)

3

4)

o |

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

1 F

(2)
3
4)

4F
6F
9F

A sample of 0-1 g of water at 100°C and normal
pressure (1:013 x 10° Nm_z) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1)
(2)
3
4)

84:5J
422 J
208:7J
104-3J

A small sphere of radius ‘r’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

1) rt
(2)
3)

5
r
2
T
4) 1
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30.

31.

32.

33.

0-5 kg m™! ¥fd 31 Trams geome i fopelt arg <t
afast T8 # T Faehd TMa o W S &Afes & 30°
T IV ST 7, T T 2 | 36 B I 360 e
€T JaTed hieht e Hlehd 8l a1 ST e 36 W
0-25 T ST %1 Frehid &7 Heatar foem § sl =t @
2 | D8 I O T % fau 3w venfea am 2

(1) 11-32A
(2) 1476 A
(3) 598A
4) T14A

20 mH %1 s Ik, 100 pF 1 I3 GRS q9T 50 Q
1 ®1g Tfqliesh, fa.a1. s (emf), V = 10 sin 314 t
& foret &id @ Avft ° "afog & | 39 uiwy O wifeRd
DR

1) 113W
@) 274W
3) 043 W
4 079W
forelt forgd-grees % gal & st ufagreshg gere &

TH Udehl B8 Feater o 3 | 9 foed-gree § g

YaTted i Al 8, A1 98 B &fis grahid & § q1a

S 1 IR gl & T 2 | 3 THR T8 TS Tecd

feafast Sat o wdt B | T A F fo sreves

T B

(1) 3@ foga-gm St fop afterdt grachia & & Soom
B &

(2) B % Yt hl ATeteh TEAT

(3) grehiT &
(4) foeq @@

foreft ot Foselt freamnfier it g gnfear 5 div/mA
3R Sieedn guTfedr (Sged $h1s dicedl § 3cad v
fagd) 20 div/V 2 | 30 AeamHieT &1 afeliy B

(1) 500 Q
(2) 250Q
3) 25Q
(4) 40Q

30.

31.

32.

33.

A metallic rod of mass

0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with

per unit length

the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

(1) 11-32A
(2) 1476 A
(3) 598A
4) T14A

An inductor 20 mH, a capacitor 100 uF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

(1) 113W
(2) 2714 W
3) 043 W
4) 079W

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
gravitational The work

potential energy.

required to do this comes from

(1) the induced electric field due to the
changing magnetic field

(2) the lattice structure of the material of the
rod

(3) the magnetic field

(4) the current source

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 500Q

(2) 250Q
3 25Q
(4) 40Q
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34.

35.

36.

37.

Toret wafer fguar w1 3w foreft Tt i i Aot &
IS 39 H o forw fopam a7, foem Ay wey
< oETg ! uiEdt e grr aemnSa TR S Hehar
21 27°C & 9 W T H A=E 20 cm IR
73 cm B W & HATT 3TFATG 397 BMd 7 | ARG T&f
g &1 IERT 320 Hz 7, @1 g § & & 27°C W
Ul

(1) 300 m/s
(2) 350 m/s
(3) 339 m/s
(4) 330 m/s

Y Q % foreft fogea Tma ufgemr @enfr ¢

%A A ITell g <l ufgemiati & fiw fRR-Ggd 9o

(1) dfgsmrait < dta hi gft % AT B B |

(2) dfgwii & == 6l gt % A 6 STIHAII!
BT 2 |

(3) ufgwmati o o9 1 g  Waeha: AT
BT 2 |

(4) ufgmaAi & o= ht gt W R A& |

HIE et Th B Fo o H od T oeahl 8 3N
WA 3MEd gicteh i 9ifd g &9 F mW-A® i &
w e | e feufd & 5 m g W 3ES Mo H
TR 20 m/s? ® | i ST SATEdhIA &

1) 1s
(2 2s
3) ms
4) 2ms

I3 goiael fommaen @ fhet wshem™ qum SR w1
Feaier fagd-e9 E # %5 4 7 g, h, frar g | o
e # ufemor smfaffa w@d gu swhr foum
Iohitd L € It 7 | foRel Wi Wi formreen @
31 & Fealer gt h 9% 8 e oo Sran @ | We
& i § fore o wm < gon § solae g frd o
INRIRIRIR: DR

(1) ==

(2) 10 TAT Afesh

(3) 5T 3fH

(4) A

34.

35.

36.

37.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 300 m/s
(2) 350 m/s
(3) 339m/s
(4) 330m/s

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(1

inversely proportional to the distance

between the plates.
(2)

proportional to the square root of the
distance between the plates.

(3) linearly proportional to the distance

between the plates.
4)

independent of the distance between the
plates.

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

1) 1s

(2) 2s

3) ms

4)
An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of

fall of the electron, in comparison to the time of
fall of the proton is

(D
(2)
3
(4)

2n's

equal
10 times greater
5 times greater

smaller
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38.

39.

40.

41.

AR AV = Vo1 (Vy > 0) 3R ZEE m
w1 Y T el REReT E - - By |
(B = e > 0) H t = 0 T Yoz a1 2 | Al Joew
# 30 goidgH hI STl aleed o) B, 9 §WE ¢ W
EEE TR i i |

(1) %

@) Ayt

rnVO

3) A (1+ el tJ

Y
(1 + eEq t]
mVO

BIgero Ty <1 fepehl o e # TRt goiwei <Al
TTferst St ST 3EehT et Sl 1 STATA BIaT B

(4)

1 1:-2
(2 2:-1
3 1:-1
4 1:1

S foret a1 % Y5 W @M 2v, (J& v, gt
TR B) 1 TN STTUAH hidl B, d1 IcdfSid el
1 ARAT A v, 7 | I faa ot hit smgfa
qQEH bvy, G I o7, A I g8 " I
ﬁﬁﬁaﬂﬁwaﬂvzﬁmélvlﬁvzaﬂ

I B
1 2:1
(2 4:1
3 1:4
4) 1:2

foret Weafrea werel <l ared-amg 10 fire & | =fe
A § IRl i T 600 B, A1 450 TIRIHI %
foafea e o o aren T (e o) 2

(1) 15
(2) 30
(3) 10
(4) 20

38.

39.

40.

41.

An electron of mass m with an initial velocity
;; =V, /1\ (Vo > 0) enters an electric field
}_E> =— Eoli\ (Ep = constant > 0) at t = 0. If A is
its de-Broglie wavelength initially, then its
de-Broglie wavelength at time t is

1 Ay

@) At

mVO

3) X (1+ el tj

_h
[1+ eEo tJ
mVO

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,

4)

is

1) 1:-2
2 2:-1
3 1:-1
4) 1:1

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is vy. When the frequency of the incident
radiation is increased to 5v), the maximum
velocity of electrons emitted from the same plate
is vy. The ratio of v; to v, is

1 2:1
2 4:1
3) 1:4
4) 1:2
For a radioactive material, half-life is

10 minutes. If initially there are 600 number of
nuclei, the time taken (in minutes) for the
disintegration of 450 nuclei is

(1 15
(2) 30
(3) 10
4 20
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42.

43.

44.

45.

= fvg, A : (T 39 @), B : (TH dac JAmRhR
Thdl) dA C : (T AR Bgl), T g &
ZeqaHE M den BT R 2, 99 iU o o 8 {9
Tufyfa 3187 o id: =h0 9 @ B | 35 (aCmmeeT
N & fau fu 99 et stewEs wEt (W) & fag
HH-I1 TEY TE 7 ?

(1) WA>WC>WB

(2) WB>WA>WC

(3) WA>WB>WC

(4) WC>WB>WA

NG T T FTAR S=1¢ h | g¥vRiEd 99 & ey
form 3raen @ TR 9TeT i fuvs, M AB = D &
FHEaleR g I -3t IU T 2 | 99 S8 h grft

h B
o
l A
(1) %D
@) % D
3) D
@ 3D

Frafafaa & 9 wH-01 w99 F@eT 8 2

(1) &t =for Turieh <t ferard g <t fomn % qwE
Bt 7 |

(2) =¥ oo muferes i w1 foriy A ] |

(3) wfqe wdur @1 dwea o stfiers fdafsen &
FHETAT BTl B |

(4) et axu adff oo § %0 gar g |

SEE m H Th TS T[ehl, 4m §eIHM & fohet

TR R ek § Hog HAT B | HUZ % UYET, B

el form raEe ® o1 A ® | AN gk ek H

IR AT v 7, A A UMk (e) T TH I

(1) 04
(2) 08
(3) 025
(4) 05

42,

43.

44.

45.

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed ®w about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) Wr>We>Wg
(2) Wg>W,>Wg,
(8) Wur>Wg>Wg,
(4) We>Wg>W,
A body initially at rest and sliding along a
frictionless track from a height h (as shown in

the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

h B
D
l A
® 2p
@ LD
®)
) %D

Which one of the following statements is
incorrect ?

(1) Coefficient of sliding
dimensions of length.

friction has

(2) Frictional force opposes the relative motion.

(3) Limiting value of static friction is directly
proportional to normal reaction.

(4) Rolling friction is smaller than sliding
friction.

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1 o4

(2) 08
(3) 025
4) 05
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46.

47.

48.

49.

50.

51.

I HITHI o JYUE hH N AT H FHEAT
ferrehT 3eTEA B ?
(1)  3Fgepeit faferto
(2) AfET fowm

(3) JoI®yudl

(4) FESTAdT

fre T H HesX g W= TAMY] o HRUT oTEeRT
g o Tereprell SNy Icqd BT 8 2

(1) srhfatfim

(2) Tarent Tm

(3) uEiUfEa®

(4) uferpfeufm

39 % T OH AR W TEhH TS| UNH AT
forehl gfg o RO B B 2

(1) faaftm E

(2) faafm By,

(3) foarfim A

(4) faarfm D

Frafafaa siftraeet 4 @ S-8 ags7 § Sfm Tt i
ST’ Sl gd 8 2

TaTfern

RRERIEGI

BRI

31qul goTfera

CESIEIENIUIT

(1) a,c@ie

(2) b,dUd e

(3) a,bWec

(4) b,cQEie
Freafafaa et foem % e 4 ¥ 7o fawey
T I HINT :

(1) A9, THCE Ud HH hl g
(2) <HCE, A T <idl ol Aieash
(3) =WIEE, A Ud =idl i &6

(4) 9, TETCS T <Al o U
frafafaa & @ wH-a1 ufaen o 787 2 2
(1) fafefam

(2) TASTEH T

(3) T Tfersmy

(4) wfefim

P e T

46.

47.

48.

49.

50.

51.

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(1) Adaptive radiation

(2) Convergent evolution

(3) Analogy

(4) Homology

In which disease does mosquito transmitted

pathogen cause chronic inflammation of
lymphatic vessels ?

(1) Amoebiasis

(2) Ringworm disease

(3) Ascariasis

(4) Elephantiasis

Conversion of milk to curd improves its
nutritional value by increasing the amount of

(1) Vitamin E

(2) Vitamin By,

(3) Vitamin A

(4) Vitamin D

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

a. Dominance

b Co-dominance

c Multiple allele

d. Incomplete dominance
e Polygenic inheritance

(1) a,cande

(2) b,dande
3) a,bandc
(4) b,cande

Among the following sets of examples for
divergent evolution, select the incorrect option :

(1) Eye of octopus, bat and man

(2) Brain of bat, man and cheetah

(3) Heart of bat, man and cheetah

(4) Forelimbs of man, bat and cheetah

Which of the following is not an autoimmune
disease ?

(1) Vitiligo

(2) Alzheimer’s disease

(3) Rheumatoid arthritis

(4) Psoriasis
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52.

53.

ey 1 1 € TS 9e o1 wqw 11 6 me) § fem iR
IR f= few MU fowmedi & @ @E? fasey w1 T
SHifa

ey 1

a. ’E’Bﬂﬁ@iﬂ 1.

Ty I1
Sret o ik T H
HUE B

b. TmRE ii. g H fopeefera oemn %
fiug
c. gFhE g iii. =BT B Tgrgehdl

iv. T3 H o[HE HT BT

a b c d
1) iv i ii iii
(2) i iii i iv
3 i ii iii iv
(4) iii ii iv i

Ty 1§ & T wel o T 11 7el & e i

IR i few U fomewi 0§ @E? fawew &1 WA

T ;
&Y [
(F1%)

a. offigen Feed i
b. T 1 AGW ii.

ey I1
(3eGi+ TF BT YTT)

FENRIN]

c. TIAH AWEA il TEE
d. TAREET v, HAUN HOER
v. EHIOEy Hafad At
a b c d
1) v iv i iii
2 v iv i ii
(3 iv i ii iii
4 v v ii iii

52.

53.

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column I
a.  Glycosuria i. Accumulation of uric
acid in joints
b. Gout ii. Mass of crystallised
salts within the kidney
c. Renalcalculi iii. Inflammation in
glomeruli
d. Glomerular iv. Presence of glucose in
nephritis urine
a b c d
1 iv i ii iii
(2) i iii i iv
3 i ii iii iv
(4) iii ii iv i

Match the items given in Column I with those in
Column IT and select the correct option given

below :
Column I Column II
(Function) (Part of Excretory
System,)
a.  Ultrafiltration i. Henle’s loop
b. Concentration ii. Ureter
of urine
c.  Transport of iii. Urinary bladder
urine
d. Storage of urine iv. Malpighian
corpuscle
v. Proximal
convoluted tubule
a b c d
1 v iv i iii
2) v iv i i
3) iv i i iii
(4) iv v il 1ii
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54.

55.

56.

57.

mifus ardl’
(1) b qga-fgq mifidius ? |
(2) WHIUD® I

(3) TR U TS 6 Higdl @ §gdl 8 Ud
JTSIedT sl Ushd! 2 |

(4) TV T TEISH UTEl ol Aa%g Hdl & T Al
o TYUT ! bl 8 |

TR Yot sty gl Sew foped wdt B 2

(1) SR T el

(2) HEISTER T WThIh

(8) ITqEcadl U HEISTER

(4) STEICaT Td HEASHER

IS T Y (Tafifeer) | 71 Tt & ?

(1) YhUSHA H Fh1) S §, Wefh YA A
THUST H A HIREHHT YIS
Afcreptal <l Tfesht | Hied B8 |

(2) IRV § SBRIOST T HTell hIfdTeRTST &
WEhoh AR I fgehl H HEH 2@l 3,
Selfeh YEAIIREH H Yh1Y] s & |

(3) WhUSHA H Lh1 S §, Vel LA H
I A F |

(4) YHOSH H HOE TG §, Tk R |
1] S & |

AT ] AT W % U 390 Hi-8 'iEE |ifed
w7 ?

(1)  hCG, TSIEISH, TEISH, Tk ehss

(2) hCG, hPL, TSEoH, TENH

(3) hCG, hPL, TegH, ffem, stiferaeifam

(4) hCG, hPL, YSiEeie, Tetfaed

54.

55.

56.

57.

The contraceptive ‘SAHELT
(1) is a post-coital contraceptive.
(2) isan IUD.

(38) increases the concentration of estrogen and
prevents ovulation in females.
(4) blocks estrogen receptors in the uterus,

preventing eggs from getting implanted.

The amnion of mammalian embryo is derived
from

(1) ectoderm and endoderm

(2) mesoderm and trophoblast

(3) endoderm and mesoderm

(4) ectoderm and mesoderm

The difference between spermiogenesis and

spermiation is

(1) In spermiogenesis spermatozoa are formed,
while in spermiation spermatozoa are

released from sertoli cells into the cavity of

seminiferous tubules.

(2) In spermiogenesis spermatozoa from sertoli
into the

seminiferous tubules, while in spermiation

cells are released cavity of

spermatozoa are formed.

(3) In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.
(4) In spermiogenesis spermatids are formed,
while in

spermiation spermatozoa are

formed.

Hormones secreted by the placenta to maintain

pregnancy are

(1) hCG, progestogens, estrogens,
glucocorticoids

(2) hCG, hPL, progestogens, estrogens
(3) hCG, hPL, estrogens, relaxin, oxytocin
(4) hCG, hPL, progestogens, prolactin
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58.

59.

60.

61.

frafafaa @ @ s J6t Hifvend sy ' 3
T3 § Wgg hidl & ?

(1) fixfir Sifsrenrd

(2) A (Tecie) IR

(3) ToISHT SHITTHY

(4) YT HIfHT

ey 18 &) 78 9e o ward 11 1 9e & fiam hifse
IR = few MU fowmewt @ @ @E? famew w1 =

HIT

Lary [ ey I1

a.  WIEfSANE i qUEelt @qe

b. TAGRH ii. T o

c Qv_{&{? iii.  wfceen fsanfafe
a b c

(1) i iii i

(2 i iii ii

3 i ii iii

(4) iii ii i

hehTel URf Hepad | hicWaw Haw@qul & ifh I8

(1) ¥R | 8 R Ufded a9 % wed ey
fomfor =67 Trehet 2

(2) UfFeT aq o grEnfee i s STer T aT 7 |
(3) wrEnfE TdiNe & ot 38 fshamsfier st B |
(4) 9T O dyet UfaeT & Tisha TIA & AT

I g1 1 & HIERE % o |
frafafad & @ e vaud faer 1 3 @
g2
(1) araehifd
(2) digfasa
(3) fafcrepmrrar
4) uwafEE

58.

59.

60.

61.

Which of the following gastric cells indirectly
help in erythropoiesis ?

(1) Parietal cells

(2) Goblet cells

(3) Mucous cells

(4)  Chief cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column 1 Column I1

a. Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

(1) i iii i

(2) i iii ii

3) i ii iii

(4) iii ii i

Calcium is important in skeletal muscle

contraction because it

(1) prevents the formation of bonds between
the myosin cross bridges and the actin
filament.

(2) detaches the myosin head from the actin
filament.

(38) activates the myosin ATPase by binding to
it.

(4) binds to troponin to remove the masking of
active sites on actin for myosin.

Which

respiratory disorder ?

of the following is an occupational

(1) Emphysema
(2) Botulism

(3) Silicosis

(4) Anthracis
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62.

63.

64.

65.

66.

T 1 H TS Al o &R 11 hl Ael § e hifs
IR = for o fasmedt § @ @t faswew w1 WA

HINT

&y [ &y 11

a.  gUmN i. UV-B faferto

b. &fel cefha i, S

c. Temrad (VN sAEeE) il 9N dig

d. IuEd iv. amufirse faem
a b c d

(1) i ii iv iii

(2) i iv i ii

(3) i iii iv ii

4) i i iii iv

freafafga 9 9 fufercar fogm 8§ ufesifas & Icarea &
foe wufe & FH-H e Grn aga @ H
Tt 8 2

(1) sy

(2) A

(3) TEMIHINAT

(4) wgIRIar

“Tep” ATk g UEdT Y o foRE 9T | TS Bt B 2
(1) ufwEi @

(2) i d
(3) T
(4) Fai ™
T o h TG g5 SHEEl §

(1) SFYd A Sew Safseai & %A 2id & |

(2) HEH TS Wqd oA HEa # SOt B
g1

(3) S SAfSE TR SAfsedl | & 8 3 |

(4) Y e Sem SAfsedt o 31fees 2id 2 |

frfafea § 9 SF-81 SeRd™ W § 787 o ?
(1) s d%

(2) aEfdeh 3T

(3) dfad 3qaq

(4) TSfT aHHl qrh

62.

63.

64.

65.

66.

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I
a. Eutrophication i. UV-Bradiation
b.  Sanitary landfill ii. Deforestation
Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
1 1 ii iv iii
(2) il iv i ii
3 i iii iv ii
4 i i iii iv
Which one of the following population

interactions is widely used in medical science for
the production of antibiotics ?

(1) Amensalism
(2) Parasitism
(3) Mutualism

(4) Commensalism

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Leaves
(2) Roots
(3) Latex
(4) Flowers

In a growing population of a country,

(1) pre-reproductive individuals are less than
the reproductive individuals.

(2) reproductive and pre-reproductive
individuals are equal in number.

(8) reproductive individuals are less than the
post-reproductive individuals.

(4) pre-reproductive individuals are more than
the reproductive individuals.

All of the following are included in ‘Ex-situ
conservation’ except

(1) Seed banks

(2) Botanical gardens
(8) Sacred groves

(4) Wildlife safari parks
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67.

68.

69.

70.

71.

T S & HIfeT 59 H T AGGTATCGCAT 2 |
3% g IFRad mRNA T Helferd shH 1 SR 2
(1) UCCAUAGCGUA

(2) ACCUAUGCGAU

(3) UGGTUTCGCAT

(4) AGGUAUCGCAU

T Tl % Tk X URH § X-HehH IFE 7 | Ig [URH
[EZCECN I

(1) i wd g g A

(2) had Ui /ATe-ArtaaT §

(3) <had g W

(4) haa g o

ey 18 & 78 93 o1 Ty 11 9e § faam il
IR o few MU fawmewi @ @E?t famew w1 W

HIT

&ey [ ey I1
a.  SYUGHId UEEAT i, TYTIR 7% o foere
b. @l gTEE ii. geehr STewn
c. FRgaE iii. drafivg graEen
a b c
(1 i i ii
(2) ii i i
(3) i i ii

(4) iii ii i

I O HIF-A1 U T YW TgT 8 2
(1) 3IF:™h

(2) TR

(3) HTEATHS S(H

(4) TR

M & i & sgEr fowm i frafafy fra yr
Bt & 2

(1) &g Ieafada

(2) <ifireh g9 T&9 gitEdq (Seoredt fafererar)
(3) HTeesH

(4) SEOT e

67.

68.

69.

70.

71.

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

(1) UCCAUAGCGUA

(2) ACCUAUGCGAU

(3) UGGTUTCGCAT

(4) AGGUAUCGCAU

A woman has an X-linked condition on one of her

X chromosomes. This chromosome can be

inherited by

(1) Both sons and daughters
(2)  Only grandchildren

(3) Only sons

(4) Only daughters

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column 1 Column II

a. Proliferative Phase i. Breakdown of

endometrial
lining

b.  Secretory Phase ii. Follicular Phase

c.  Menstruation iii. Luteal Phase

a b c

(1) il i ii

(2) i iii i

3) i iii ii

(4) iii ii i

All of the following are part of an operon except
(1) a promoter

(2) an enhancer

(3) structural genes

(4) an operator

According to Hugo de Vries, the mechanism of
evolution is

(1) Minor mutations

(2) Phenotypic variations
(3) Saltation

(4) Multiple step mutations
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72.

73.

74.

Frafafiga & @ w-ar foshew swaw: g 3R aaehifa
T H%el sl <M ! 3fed &9 & g1 8 2

(1) vagt gag 4 &, ygafset § my

(2) YIB! T8 | ITferehdr; yadien § Wy

(3) vaEfHeR hI gear § Ifuehdr; gt gag H
SfereRar

(4) Y@t °§ NY; YIE T8 § HHt

ey 18 &) 78 9e o w11 1 9e 8 faam hifs
IR = few MU fowmewt @ @ @E? famew w1 =

T

T 1 Eary 11
a. oo suae i, < 3rfere W W e
% o=
b. o wuwe ii. e e e g
gt & o=
c. AT HURH  iii.  erfed sfere W arfe
fem & =
a b c
(1) 1 i 111
2 1 i1 11l
3 1 i1 11
4) 11 i 11

ey 18 &) 7S Hel o1 ey 11 h 9ef 8 firem hifvg
3t fiw few U fashedt @ ¥ &gt foaew &1 WA
Hifs

&y [
a. AN AAA i.

b. JawEEd giEa i

TEy Il
2500 — 3000 . <.
1100 — 1200 fir.=f.

AT

c. Trvama gdfem iii. 500 — 550 fr. <.
CIDGES

d. 3rafyre e iv. 1000 — 1100 fir.<ft.
a b c d

1) v iii ii i

2) i iv ii iii

(3) iii i iv ii

(4) iii ii i iv

72.

73.

74.

Which of the following options correctly
represents the lung conditions in asthma and
emphysema, respectively ?

(1) Decreased respiratory surface;
Inflammation of bronchioles
(2) Increased respiratory  surface;

Inflammation of bronchioles

(3) Increased number of bronchioles; Increased
respiratory surface

(4) Inflammation of bronchioles; Decreased
respiratory surface

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column II

Between left atrium
and left ventricle

Column 1

a. Tricuspid valve 1.

b.  Bicuspid valve ii. Between right
ventricle and
pulmonary artery

c.  Semilunar valve iii. Between right
atrium and right
ventricle

a b c

(1) i i iii

2 i ii iii

3 i iii ii

(4) iii i ii

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I1
2500 — 3000 mL
1100 — 1200 mL

Column I
a. Tidal volume 1.

Inspiratory Reserve  ii.
volume
c. Expiratory Reserve iii. 500 — 550 mL

volume

d. Residual volume iv. 1000 — 1100 mL

a b c d
1 iv iii ii i
2 i iv ii iii
(3) it i iv ii
(4) iii ii i iv
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75.

76.

7.

78.

fferfaa & @ wi-an g Wi sret & ogeae B
2?

(1) ufeesta

(2) UL

(3) UHEEEH

(4) A

frafafga & @ SH-H GEAT Ayar & 396 w4
TeTd &9 9 Ifd g 2

(1) <hOH hellgq  : ST¢ Ug g4 YHIEqSh MeAre

%I ST aTel aqel i ug |
. Torem BT 1 IcaeT W@
A, @ T = H1

T T |
: dqeT o & A1 ufeash &
fafirr &= =1 eTE | Sed
&, T w1 FreEor e
= Tt & |

(2) TEASTHE

(3) fafas a3

(4) WgE AN

frfafan § & fpu gA 6 iR § g
Yokt 8 ?

(1) TUeTEiss BHMA TE SiAfded

(2) UEISH Ud HATSUS BIHH

(3) YINEAH g Uesheld

(4) UcSReUA Td Wiaifde

AFa 99 § yres <u fhEes g 3 T¥H W &l
2?

(1) 9&my & | I fomt 9l g
(2) omstE ¥ g fosft aftmt g
(3) e § I TR g

(4) vEEY S H IS A g

75.

76.

717.

78.

Which of the following is an amino acid derived
hormone ?

(1) Estriol
(2) Estradiol
(3) Ecdysone

(4) Epinephrine

Which of the following structures or regions is
incorrectly paired with its function ?

band of fibers
connecting left and
right cerebral
hemispheres.

(1) Corpus callosum

(2) Hypothalamus production of
releasing hormones
and regulation of
temperature,

hunger and thirst.

consists of fibre
tracts that
interconnect
different regions of
brain; controls
movement.

(3) Limbic system

(4) Medulla oblongata : controls respiration

and cardiovascular
reflexes.

Which of the following hormones can play a
significant role in osteoporosis ?

(1) Parathyroid hormone and Prolactin
(2) Estrogen and Parathyroid hormone
(3) Progesterone and Aldosterone

(4) Aldosterone and Prolactin

The transparent lens in the human eye is held in
its place by

(1) smooth muscles attached to the ciliary body
(2) smooth muscles attached to the iris

(3) ligaments attached to the iris

(4) ligaments attached to the ciliary body
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79.

80.

81.

82.

83.

84.

frafafige & @ S8 wfonfyes wee ame ddfa=m
=1 aftfa @ & 2

(1)  ureEd, fgamedt, fosmedt

(2) UTEEEdT, ChRG!, FHadT

(3) Tdadt, fgamad, farswedt

(4) e, feamEdt, e

% Ugrafsas edam (RER) o f=fafed & &
- " FgT Bt ?

(1) HEhIfdfUe Ty

(2) Tehd TS T fogeH

(3) IEH I TATSHITTATH

(4) YA &1 g

Terd U™ o1 =99 il

(1) wguga o — Ufehfsrri o e
(2) IUHEThG! UREE — L-3ThRIT U
(3) U™ — fom Torg

(4) <ugw R - fgue % Fed

froer % five geua: fres o 8 € 2
(1) Hod TsaE™ @ RER

(2) —fFeh 37 td SER

(3) DNATd RNA

(4) 9N w fafrs

Sgd ¥ TEAEH TH mRNA & Teg gkl THET
uifeieerse b1 g SfdAl SHId § | UgeEE i
ST I AT FEd 7 ?

(1) higehy

(2) waTfeee™

(3) wEdc fivg

4) wgE

T W HH-AT HA Te7d 8 ?

(1) Tt BrmReliator gEhies 6t s
fagh & ufea AT & |

(2) TATSHITATTH T qh BT & W& dh 38 BISSIoH
AT T 33M % foty NAD firerdn & 2 |

(3) TSI IR | §u= Bl |

(4) TCA =3 % USATSH GFh{UIHT o oml § fooa
B E |

79.

80.

81.

82.

83.

84.

Which of the following terms describe human
dentition ?

(1) Pleurodont, Diphyodont, Heterodont

(2) Pleurodont, Monophyodont, Homodont

(3) Thecodont, Diphyodont, Heterodont

(4) Thecodont, Diphyodont, Homodont

Which of the following events does not occur in
rough endoplasmic reticulum ?

(1) Phospholipid synthesis

(2) Cleavage of signal peptide

(3) Protein glycosylation

(4) Protein folding

Select the incorrect match :

(1) Polytene -
chromosomes

Oocytes of amphibians

(2) Submetacentric — L-shaped chromososmes

chromosomes
(3) Allosomes

(4) Lampbrush
chromosomes

Sex chromosomes

Diplotene bivalents

Nissl bodies are mainly composed of

(1) Free ribosomes and RER

(2) Nucleic acids and SER

(3) DNA and RNA

(4) Proteins and lipids

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide

simultaneously. Such strings of ribosomes are
termed as

(1) Nucleosome

(2) Plastidome

(3) Polyhedral bodies
(4) Polysome

Which of these statements is incorrect ?

(1) Oxidative phosphorylation takes place in
outer mitochondrial membrane.

(2) Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

(8) Glycolysis occurs in cytosol.

(4) Enzymes of TCA cycle are present in
mitochondrial matrix.
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85.

86.

87.

88.

89.

90.

HUGhH! U b I Sl hl UgaH hINT S T
uTed o § shid ud ferd g rfirertera 2 |

(1) oArfecaefiw

(2) T

(3) difern

(4) UfeRferRm

fafaues s wefit diersert @ form yew fim € 2

(1) 374 < YR % hrgeh Bd o

(2) 3 RTPR I gehed & T UeTy 1 T Hd B

(3) T Afftad a1 Febre @ fore dgpasfia
gl Bt '

(4) ¥ T % AT IRt T T A &

Freafefed Sgett & & -8 =g HRT 737 Hd ?
(1) TerRiw

(2) WY

(3) fhe

(4) HgsT

fafafgd 4 @ S99 a8u | St H 9gaH qrer
HIBUE Y F 8 ?

(1) e i 3ufeafd

(2) & YAR 3Tws Hled 3 TE

(3) U=O I I Iuedfd

(4) TNd I G W Alhl & AR hHl AT 6
3ufeerfy

Freafafga & @ #9-8 Sfia ggmrl § ge7 3caes &
w9 9 S48 ?

(1) FAHESd

(2) TEHSEIRET

(3) SETH

(4) SEATRASACE

ffafga # & - S guardh 787 & 2
(1) Reper

(2) FHag

(3) FcaT

(4) dHlvg

85.

86.

87.

88.

89.

90.

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1) Osteichthyes
(2) Aves

(3) Reptilia

(4) Amphibia

Ciliates differ from all other protozoans in
(1) having two types of nuclei
(2) using pseudopodia for capturing prey

(3) having a contractile vacuole for removing
excess water

(4) using flagella for locomotion

Which of the following animals does not undergo
metamorphosis ?

(1) Starfish

(2) Moth

(8) Tunicate
(4) Earthworm

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(1) Presence of anal cerci

(2) Forewings with darker tegmina

(3) Presence of caudal styles

(4) Presence of a boat shaped sternum on the
9" abdominal segment

Which of the following organisms are known as

chief producers in the oceans ?

(1) Euglenoids

(2) Cyanobacteria

(3) Diatoms

(4) Dinoflagellates

Which one
homeotherm ?

of these animals is not a

(1) Psittacula
(2) Camelus
(3) Chelone
(4) Macropus
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91.

92,

93.

94.

95.

96.

97.

frfafea & @ w31 3 7e77 €9 § gAfera 8 2

(1) A=, "= ;. HEAEdAl

(2) XO R fom frufmr . feger

(3) ABO T HwgA . HEYHTeT

(4) "X T 48 GIAN : wgfaeedt

Frafafiga @ & forewt 3us Sfeq o1t T Shaw T a1

& I B @ ?

(1) 9dfar

(2) ™

(3) ©hegd

(4) | wfisfis

e v 7 e

(1) The™ Jehe qAT JAgd AHIS — e UL

(2) W BeEd IR Uh. WEd — 59 dl3ad

(3) ks e Wi aw - dwm .

(4) Td HEE - Eermimd JE

aﬁ%%aﬁgﬁq:

(1) YTGRAYT Sl @IS TH. e A & off |

(2) ARG T § 9T od § |

(3) e i ue farfesr danfaes grn foenfea femam
or |

(4) “ggaar’ weg i e erfor Terge 1 foma |

frafafegs & @ #-a wm &t Sfad % 9 0§

faferd s 4 T Hifed g3 ?

(1) TR

(2) dcfig 3rEEa

(3) TeAE aTel F=d: =

(4) W fohe

LT & rdERe Sfaeld w1 TR sE wdyem
fopermt gifa T o ?

(1) foump &

(2) W d

(3) Sftamo §

(4) o H

91.

92.

93.

94.

95.

96.

97.

Which of the following pairs is wrongly
matched ?

(1) T.H. Morgan Linkage

(2) XO type sex Grasshopper

determination
(3) ABO blood grouping
(4) Starch synthesis in pea

Co-dominance

Multiple alleles

Which of the following flowers only once in its
life-time ?

(1) Papaya

(2) Mango

(3)  Jackfruit

(4) Bamboo species

Select the correct match :

(1) Francois Jacob and — Lac operon

Jacques Monod

(2) Matthew Meselson Pisum sativum

and F. Stahl
(3) Alfred Hershey and - TMV
Martha Chase
(4)  Alec Jeffreys — Streptococcus
pneumoniae

Select the correct statement :

(1) Transduction was discovered by S. Altman.

(2) Spliceosomes take part in translation.

(3) Punnett square was developed by a British
scientist.

(4) Franklin Stahl coined the term “linkage”.

Which of the following has proved helpful in
preserving pollen as fossils ?
(1) Sporopollenin

(2) Oil content

(8) Cellulosic intine

(4) Pollenkitt

Offsets are produced by

(1) Parthenogenesis

(2) Parthenocarpy

(3) Mitotic divisions

(4) Meiotic divisions

The experimental proof for semiconservative
replication of DNA was first shown in a
(1) Virus

(2) Plant
(3) Bacterium
(4) Fungus
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98.

99.

100.

101.

guel WrTehvT fehem g 8 2

1) w=Z7Eg

(2) ™

(3) TEhg

(4) Tl

frafaflga & @ forem Shrgopgerem e sreEfifavmem
o gy SIS Sfgeiid €9 § 3099 8id & ?
(1) dFEsdis

(2) TIRHT

(3)  ayreeRar

(4) =RIERT

frfafigd 8 @ wF-T1 777 w9 ° gofoa g 2

(1) Ui Sfid —  FIRAT

(2) S g —  gRRET

(3) fTepomfirs wersiiomy) — R St

(4) USSR JHE  —  GHraEHIaT

T I H & TE Hel o TR 11 R Hel 9 e hifse
i e feu U fosedi & @ @gt fawew =1 wA

HINT

&Y [ &= 11
a. UG i 9iidd gredl o gt W
U 1 Teh LTI |
b ﬁﬁﬁ i, U eTd e s g} Sfa
=1 fafergee T #Xd 7Y 3
TR UgEH I g & faw
et o id 8T T = |
c. TUTE il UM ¥ @l 9IeY Tl i
FEH 3R TR T T
Y <T@ AT 2 |
d. TUEE  iv. T Yieaehr frad aegon <t e
(sheTanT) 3R 37k foehed B1d & S
fafir anfent <t vg=m & &
" B ¢ |
a b c d
(D i v i i
2 i iv i i
(3 i i i v
4) i iv i i

98.

99.

100.

101.

Winged pollen grains are present in

(1) Pinus
(2) Mango
(3) Cycas
(4) Mustard

After karyogamy followed by meiosis, spores are
produced exogenously in

(1)  Saccharomyces
(2) Agaricus

(3) Alternaria

(4) Neurospora

Which one is wrongly matched ?

(1)  Unicellular organism - Chlorella

(2) Gemma cups —  Marchantia
(3) Biflagellate zoospores — Brown algae
(4)  Uniflagellate gametes — Polysiphonia

Match the items given in Column I with those in
Column IT and select the correct option given
below :

Column II

It is a place having a

Column I

a. Herbarium i.
collection of preserved
plants and animals.

A list that enumerates
methodically all the
species found in an area
with brief description
aiding identification.

c. Museum iii. Is a place where dried and
pressed plant specimens
mounted on sheets are
kept.

d. Catalogue iv. A booklet containing a list
of characters and their
alternates which are
helpful in identification of

various taxa.

a b c d
(1) i iv i ii
(2) i iv 1ii i
(3) iii ii i iv
4) 1 iv 1ii ii
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102.

103.

104.

105.

106.

107.

108.

TIET g @R 1 STy frefefad § @ fe w9
BT R 2

(1) i 3R % A

(2) T T

(3) ®E

(4) i

fFrafafga @ @ ®H-51 ey Iy 6 T S & a1
T ke wrary gutan @, fem &8 ot Thgm % fom
T Sfia =5k Ul 7T L Tehdl ?

(1)  Frrer

(2) hell

3) FFH

(4) aTlgen

ToreH TeRTT-HRINYT T TS 7gT ehetd! ?

1) 37

(2) GEHhg

(3) TIir®

(4) IH Fow s

frafafga & @ om0 wifesRT § whifs s

TEH & U Seert 2 2

(1) Ffesrm

(2) urefirm

(3) wifezm

(4) Beffsem

HITTHT a8 § NAD* <t firet 1 2 2

(1) g%mmzﬁaw%mwﬁwmm
|

(2) g’gq‘aﬁﬂﬁ. o o T s ~faaeiene |
|

(3) ¥E Teh Sciagi aTgeh % &9 § hE hidl B |

(4) 8 U TATSH 6 &9 H S LT 2 |

a0 M= = 8 2

(1) I G IR e

(2) @ T IR 1 Teh 7 o Y T

(3) U T I hT QI YA hegehl b A1 HAIA

(4) Th W Tl % R IwR w A IS

1Y TeATH
T FUT H GEd H AN % U g@ AsgeH § fhe

I 9T HUSHT fohAT ST TehdT & ?
(1) -160°C

(2) —196°C

(3) —-80°C

(4) —120°C

102.

103.

104.

105.

106.

107.

108.

In which of the following forms is iron absorbed
by plants ?

(1
(2)
3)
(4)
Which one of the following plants shows a very
close relationship with a species of moth, where

none of the two can complete its life cycle without
the other ?

(1) Viola

(2) Banana

(3)  Yucca

(4) Hydrilla

Oxygen is not produced during photosynthesis by
(1) Chara

(2) Cycas

(3) Nostoc

(4) Green sulphur bacteria

Which of the following elements is responsible for
maintaining turgor in cells ?

(1
(2)
3)
(4)

What is the
respiration ?

(D

Both ferric and ferrous
Free element

Ferrous

Ferric

Calcium
Potassium
Sodium
Magnesium

role of NAD' in cellular

It is the final electron acceptor for anaerobic
respiration.

(2)
3)
(4)
Double fertilization is
(@)
(2)
3

It is a nucleotide source for ATP synthesis.
It functions as an electron carrier.
It functions as an enzyme.

Syngamy and triple fusion
Fusion of two male gametes with one egg

Fusion of one male gamete with two polar
nuclei

4)

Fusion of two male gametes of a pollen tube
with two different eggs

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -160°C

(2) -196°C

(3) -80°C

(4) -120°C
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109.

110.

111.

112,

113.

114.

Frafefaa stfeet @ fha TR o1 uiitfeafashia fitfie
e feRa ST 2

Tgere Suvierar : 120 g
Trifires UM : 60 g

T1fHeh 3caeeh : 10 g

Jamn w1 Her fWifis

g 1 G e

(3) ot 1 s

(4) Staum 1 e fifrg

Fefadt & o srfuma B 2

(1) U 37a™ | A6l & A d1al 6l q&

(2) STETE i DS I AT hl T

(3) SHI

(4) AL

ffafea 4 @ ®h- w s wgee 2 2

(1) 04

(2) SO,

(3) CO,

4) CO

THAESA H, M o fIhdiRE IR I
e il fegfa o fefafaa 4 @ o=
3NH % &9 U HE HLar @ ?

(1) 3T

(2) Fe

3) Cl

(4) HEA

fpa F R 2

(1 wgﬁamﬁ%ﬂéwﬁmiﬁwwa@
L&dl

qOEE H1 98 9 S S Sl @ % AU
EliEY

(3) g Wifaes TIM &l U Sfaurl & 8

(4) <fia o wferor 4 oyt Sfee s
forva e feam e W ST B 2
(1) 2230«

(2) 16 faarr

(3) 2130«

4) 553

(D
(2)

(2)

109. What type of ecological pyramid would
obtained with the following data ?

Secondary consumer : 120 g
Primary consumer : 60 g
Primary producer : 10 g
(1)
(2)
(3)
(4)

Natality refers to
(1)
(2)
3)
4)

Upright pyramid of biomass
Upright pyramid of numbers
Pyramid of energy

Inverted pyramid of biomass

110.

Birth rate
Death rate

111.
(D
(2)
3
4)

O3
SO,
o,
cO

112.

Number of individuals entering a habitat

be

Number of individuals leaving the habitat

Which of the following is a secondary pollutant ?

In stratosphere, which of the following elements

acts as a catalyst in degradation of ozone and

release of molecular oxygen ?
(1)
(2)
3)
4)
Niche is
(1)

Oxygen
Fe
Cl

Carbon

113.

where it lives

(2)

needs to live
3)
4)

environment

114. World Ozone Day is celebrated on

(1) 22° April
(2)
3

4)

16th September
215 April

5th June

the functional role played by the organism
the range of temperature that the organism

the physical space where an organism lives

all the biological factors in the organism’s
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115.

116.

117.

118.

119.

120.

121.

Frafafaa & 9 wH-01 we @87 ' ?

(1) TE%g AR gy <A § Tawodar a4 Tetad
B2 |

(2)

3)

(4)

fefioeht @ # fodfioes Ssaw ok vl fored 3caat
AR ?

(1) pefta fawsan

(2) HESE

(3) waEd

(4) e favysan

Sehiehe fohTenT =TT 8 2
(1) dehg

(2) YT A
(3) sraETie qa

(4) q1

vagA-qe e Bt € 2

(1) Som= Jargig J

(2) WEER! ged §

(3) Tadd-IcATdSh AaAgag o

(4) TR |

AT HI Bl AT

(1) AR @ SrgwRt gt Sfasrrdl < wiftesr |
TFAHUTRIT Th WHIE & |

TRUFNSET H 91e T 3 e T80 i
AT € |

B! o TRy SIS ¥ B |

Tl 3 YTeY S o FS& § hifses i
39feord it 8 |

Tl dfedt el Bl 8 ?

(1) SF=Eca=i

(2) dohe

(3) i

(4) STRICEE

Ig UTey HH-4 § T fydees afg oid = oo =&
Breft 2
(1) wmghed
(2) wHaw
qofaTel} STaasts
oy

(2)

(3)
(4)

3)
(4)

115.

116.

117.

118.

119.

120.

121.

Which of the following statements is correct ?

(1)

Stems are usually unbranched in both
Cycas and Cedrus.

(2) Horsetails are gymnosperms.

(8) Selaginella is heterosporous, while Salvinia
is homosporous.

(4) Ovules are not enclosed by ovary wall in
gymnosperms.

Secondary xylem and phloem in dicot stem are

produced by

(1) Axillary meristems

(2) Phellogen

(3) Vascular cambium

(4) Apical meristems

Sweet potato is a modified

(1) Rhizome

(2) Tap root

(3) Adventitious root

(4) Stem

Pneumatophores occur in

(1) Submerged hydrophytes
(2) Carnivorous plants

(3) Free-floating hydrophytes
(4) Halophytes

Select the wrong statement :

(1) Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.

(2) Pseudopodia are locomotory and feeding
structures in Sporozoans.

(3) Mushrooms belong to Basidiomycetes.

(4) Cell wall is present in members of Fungi
and Plantae.

Casparian strips occur in

(1) Endodermis

(2) Cortex

(3) Pericycle

(4) Epidermis

Plants having little or no secondary growth are

(1) Cycads

(2) Conifers

(3) Deciduous angiosperms

(4) Grasses
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122.

123.

124.

125.

126.

127.

U faeeft wrot grn amee i T 987 TR & U
(wehear) Toparm T o, Ty v foret v ® o T
¥ foemm 8 | w8 forud grafa 2 2

(1) S

(2) Wi U

(3) Edl FER

(4) Co-667

HHE AR § €.TH.T. & Th ghg o HavH & fog
FrafeiRed ® & HH-|1 daet FW=IG: Y Rt S
2?
(1
(2)

pBR 322
A B

(3) TivwfsHe

(4) WEEE (W q15H)

JEUSER FFET IR WSl grn et g W 3wk
& Bt fomT orsfd o SaEareEi % Iw i
3T a1 2 ?

(1) Sa-3iyor

(2) SAI-3T9ERH

(3) RIS (S ggd)

(4) Sa-3g=

RIS (R

(1) . g« -
2) A=, 9= -
(3) Fyx AR b — fg&et shid

(4) TESISIEA S e
UifcTS J@en AMfRAT (PCR) | =N &1 @&l A
Q2

(1) foepdieto, oo, foao

(2) Toepdieto, fowao, swieH

(3) oFieH, faeaw, fopdient

(4) fowawon, fospdieton, SieH

et 39T % foIw erafiRa: wa@ia el %
Tadd % SR § GIET o oA o oI YRd H hiA-A1
TS IR B 2

(1) STgafes AfEiteh qome |fifd (GEAC)
(2) 3TAf Yi=ETe gaydH Afdfd (RCGM)
(3) awfeh v et srgHa™ uftyg (CSIR)
(4) YRR YfdH sgEy™ afwg (ICMR)

FITT
TERHTT

122.

123.

124.

125.

126.

127.

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(D
(2)
3
(4)

Basmati

Lerma Rojo
Sharbati Sonora
Co-667

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(1) pBR 322
(2) X phage
3)
4)
Use of bioresources by multinational companies

and organisations without authorisation from the
concerned country and its people is called

(D
(2)
3
4)

Ti plasmid

Retrovirus

Bioexploitation
Biodegradation
Biopiracy

Bio-infringement

Select the correct match :

(1) G. Mendel — Transformation
(2) T.H. Morgan — Transduction
(3) Fyx Recessive parent — Dihybrid cross

(4) Ribozyme — Nucleic acid

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(1)
(2)
(3)
4)

Denaturation, Annealing, Extension
Denaturation, Extension, Annealing
Annealing, Extension, Denaturation

Extension, Denaturation, Annealing

In India, the organisation responsible for
assessing the safety of introducing genetically
modified organisms for public use is

(1)

Genetic Engineering Appraisal Committee

(GEAC)

(2) Research Committee on Genetic
Manipulation (RCGM)

(3) Council for Scientific and Industrial
Research (CSIR)

(4) Indian Council of Medical Research (ICMR)
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128.

129.

130.

131.

132.

133.

134.

135.

Fwa TS TORGAT hT JAFRT R TTawen H STRE
B g ?

(1) 3FWug

(2) UIdsRA

3) foug

(4) TYEIE

Test! afthry ferad W ofar 8 2

(1) U 317 < afshavm |

(2) Sfarupst § vae o

(3) @ret gieehrati & ;W H

(4) I A o T H

i <t mfefierar forem wwifaa 787 2t 2
(1) CO, Higar &

(2) O, Higal &

(3) ™™

(4) aIWH "

IR % g1 AfrefiTe SrEicHs J9g HH-9 8 2

(1) e 3R gggifoad

(2) e 3 BiEhe

(3) eI 3 Afore

(4) wrEeifFad R Bfoe

frafaflga @ @ SH-T & THW-HIAT HT T
rfrfshan =1 IcuTg 7ET B 2

(1)
(2)

Oxygen
NADPH
(3) NADH
(4) ATP

o 1 ot § Ty S g B 2

(1) TIAHHR

(2) IEAEHR

(3) FJFRTHRR

(4) TEATHR

g o fou frforfea & 9@ wH-= w&t 2 2

(1) I8 TEaEH e RNA d3a9o o1 fhamsfiar Toret
2

Ig b o A W AT B |

(3) =Efraaftmwn? |

(4) Towfa it wifdremrati # 2 i 2 & |
frefafea & @ wF-a1 s qheght 787 7 2

(1)  7EeIcRar

(2) TiEi®

(3) HIEHIGFIRTH

(4) d0Frsdis

(2)

128.

129.

130.

131.

132.

133.

134.

135.

The stage during which separation of the paired
homologous chromosomes begins is

(1) Zygotene

(2) Diakinesis

(3) Diplotene

(4) Pachytene

The Golgi complex participates in
(1)
(2)
3)
4)
Stomatal movement is not affected by
(1)
(2)
3)
(4)

The two functional groups characteristic of
sugars are

(D
(2)
3
(4)

Which of the following is not a product of light
reaction of photosynthesis ?

(1)
(2)
3
4)

Activation of amino acid
Respiration in bacteria
Formation of secretory vesicles

Fatty acid breakdown

CO, concentration
O, concentration
Light
Temperature

carbonyl and hydroxyl
carbonyl and phosphate
carbonyl and methyl
hydroxyl and methyl

Oxygen
NADPH
NADH
ATP

Stomata in grass leaf are
(D)
(2)

Barrel shaped

Rectangular

(3) Kidney shaped

(4) Dumb-bell shaped

Which of the following is true for nucleolus ?

(1) It is a site for active ribosomal RNA
synthesis.

(2)
3
4)
Which among the following is not a prokaryote ?
(1
(2)
3
4)

It takes part in spindle formation.
It is a membrane-bound structure.
Larger nucleoli are present in dividing cells.

Oscillatoria
Nostoc
Mycobacterium
Saccharomyces
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136. f=ffad & ¥ SH-8 T W APH T Thed &Hal

137.

138.

139.

ot et B 2

(1) ot A & AT a8 |

(2) I & A YA T A& g g1 W
(3) had AT & IHR T

(4) had AT & E IRATT T

BaSO, i 298 K W I § forerar 2-42 x 1073 gL~
@ | fotaar Qo (K ) <1 7 &

(fean T 8 BaSO,, 1 #ieR 389WH = 233 g mol 1)
(1) 108 x 1078 mol® L2
(2)
(3)

4)

108 x 104 mol? L2
1-08 x 102 mol® L2

1-08 x 10719 mol? 1.2

NH,, H,, O, @1 CO, % fau aret acd feerre
FAM: 4-17, 0-244, 1-36 U©d 359 few ww § |
Frafafea O @ - 19 o998 TEm @ glad & S
77
@)
(2)
3)
4)

frfafga foe@mi 1 NaOH W& HCl i fim-fim
Hrg 13Tl T STRTHT oh (00T O SR =0 8

a. 60 mL M HCl + 40 mL M NaOH
10 10

b. 55 mL M HCI + 45 mL % NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

¥4 ¥ fopgept pH, 1 TR 20T 2
(D
(2)
3
4)

T o o0

136.

137.

138.

139.

On which of the following properties does the
coagulating power of an ion depend ?

(D
(2)

The sign of charge on the ion alone

Both magnitude and sign of the charge on

the ion
Size of the ion alone

3
(4)

The magnitude of the charge on the ion
alone

The solubility of BaSO, in water is
2:42 x 107 gL_1 at 298 K. The value of its

solubility product (Ksp) will be

(Given molar mass of BaSO, =233 g mol ™)
(1) 1:08x107° mol* L2
(2)
(3)

(4)

1:08 x 107 mol® L2

108 x 1072 mol® L2

108 x 107° mol® L2

Given van der Waals constant for NHg, H,, O,
and COy are respectively 4-17, 0-244, 1-36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) COq

(2) Oy

(3) H,

(4) NHj4

Following solutions were prepared by mixing

different volumes of NaOH and HCI of different
concentrations :

a. 60 mL E HCl + 40 mL M NaOH
10 10

b. 55 mL % HCI + 45 mL M NaOH
10 10

c. 75 mL % HCI + 25 mLL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
(D)
(2)
(3)
(4)

T M o0
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140.

141.

142,

143.

144.

145.

frafafgs @ @ 8- o= MF63‘ AT T H
e ® 2

(1) In

(2 B

3) Al

4) Ga

et & foe f=fefaa o & S-o1 w5 o 787
7?
(1)
(2)

FARM sl FATeh orae T80 Taedt 7 |
YA % reEr i eATeHes  SAfeRdieRtr
HeEdTd GRMd & |

(3) =t Srfefiermes 3fiertes & |

(4) wft uoher &I Tt A S § |

CIF; 1 @& H g WA ‘CI W THEhl g
TAFLHI <h! HEAT 7

(1)

(2) =R

3 &

4) TH

e 3@ H WIH § T@d gq fefaRgd § @
HAH Grg H ITAN VG b Tq=EE § feRAm S
GehdT B 2

(1) Cu

(2) Mg

3) Zn

(4) Fe

N-AMfehi H $eh! STFEIROT STEEATHAT HI Heal g
EHET R

(1) NH,CI, Ny, NO, HNO,4

(2) HNO,, NH,CI, NO, N,

(3) HNOg, NO, NH,CI, N,

(4) HNOj, NO, N,, NH,CI
frafafad # @ 7@ 13 & o=l § wATfvge Brsmstt @
-1 HY TE 8 ?

(1) B<Ga<Al<In<Tl

(2) B<Ga<Al<Tl<In

(3 B<Al<Ga<In<Tl

4) B<Al<In<Ga<Tl

140.

141.

142.

143.

144.

145.

Which one of the following elements is unable to
form 1\/[F§ “ion ?

(1
(2) B
3 Al
4) Ga

In

Which of the following statements is not true for
halogens ?

(1) Chlorine has the
enthalpy.

highest electron-gain

(2)

All but fluorine show positive oxidation
states.

3
4)

All are oxidizing agents.

All form monobasic oxyacids.

In the structure of C1F3, the number of lone pairs
of electrons on central atom ‘CI’ is

(1) three

(2) four

3
(4)

two

one

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?

1) Cu

(2) Mg

3) Zn

(4) Fe

The correct order of N-compounds
decreasing order of oxidation states is
(1) NH,CI, Ny, NO, HNO4

(2) HNOs, NH,C], NO, N,

(3) HNOgs, NO, NH,CI, N,

(4) HNOg, NO, Ny, NH,Cl

in its

The correct order of atomic radii in group 13
elements is

(1) B<Ga<Al<In<TI
(2) B<Ga<Al<Tl<In
3) B<Al<Ga<In<Tl
(4) B<Al<In<Ga<Tl
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146.

147.

148.

AMfieh A o Na @ 1Rfshan @™ W a8 B ad1 & 991
PCl, % @1 Tffha F@H WA C a2 | BW C
A1 f Ty § rfufr e W osETie e ar

BaT2 | A, BANMCHA T
(1) C,H;OH, CyH;ONa, C,H;Cl
(2) C,H;Cl, CyHy, C,H;OH
(3) CyHyOH, C,H,Cl, C,H,ONa

(4) C,H5OH, CyHg, CoHsCl

BIEgIhEA (A) S & gfaead= grr 3Tfrfshan oteh
% Uoha SmEE o @ S fR 9w srfufean g
et gregrpre # ftafda grar @ foem f6 =) @ @m
e T § | (A) 7

(D
(2)
3
4)

CH,
CH, - CH,
CH2 = CH2

CH=CH

T Ak C, Hy Tfafaa stfufsransti & Torar 2 -

3 Clz/A Brz/Fe Zn / HC1
A B

C;Hg C
3G C' 7

(1)  p-SHIEiEd

(2)  3-5M1-2,4,6-TRFARISIASA

(3)  o-SWRIgH

(4)  m-SHRIgE

149. aHse # i wd e et 1 & ffifa Arggiem

I HH-HT SATFATES TRV TeTh Tg7 & 2
(D
(2)
(3)
(4)

NO
N,O
NO,
N,Oj

146.

147.

148.

149.

The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,H5OH, C,H;ONa, C,H;Cl

(2) C,HsCl, C,Hy, C,HOH

(3) C,H5OH, CoH,Cl, C,H;ONa

(4) C,H;OH, CyHy, CoH;CI

Hydrocarbon (A) reacts with bromine by
substitution to form an alkyl bromide which by
Wurtz to

hydrocarbon containing less than four carbon

reaction is converted gaseous

atoms. (A) is

(1) CH,

(2) CH,- CHjy

(4) CH=CH

The compound C;Hg undergoes the following

reactions :
3Cly/A

Bry/Fe _ 7Zn/HCI
A —2 B = C

7Hg
The product ‘C’ is

(D
(2)
6))
4)

p-bromotoluene
3-bromo-2,4,6-trichlorotoluene
o-bromotoluene

m-bromotoluene

Which oxide of nitrogen is not a common

pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) NO
@ N0
3)
4)

NO,
NyO5
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150.

151.

152.

153.

154.

T [CoCl,(en),] R SERTd THTa 1 SHR &
(1) wer guEgad

(2) AR "HTSR—EdT

(3) SUHEEIISH GHTEIET

(4) SO FETIET

Fafafad § @ SH-A1 I d-d GhHYT ST § a9
|1 A SR Wl ?

(1) MnO%~
(2) MnO,
(3) Cry02”
4) Cr02”

Hram 1 # feu MU g1 AT @ wiem I # fiu Mo
AT & TRV gEEeh  oTeEn § fEmsy g
@l Teha 1 fHfdse Hifvw

B 1 PicH 11
a. Co®* 1. J8 B.M.
b. Cr** ii. /35 B.M.
c. TFedt iii. 3 B.M.
d. Ni* iv. /24 BM.
v. 15 B.M.
a b c d
1 i v i ii
@ iv i ii iii
3) i ii ii iv
4 v v ii i
IR Hree, Fe(CO); R
(1) fgehgeh
(2) Prebgeh
(3) UHHGH
(4) TThhoH
[Ni(CO),] G I il we graehr or 3
(1) SR SHTHld To SATgrrhia
(2) o GHdelt sarfufd T SEgrEhE
(3) TTSHETh SATHT T Tfagraehid
(4) ot auael safufa wa wfogreh

150.

151.

152.

153.

154.

The type of isomerism shown by the complex
[CoCly(en)sy] is

(1) Linkage isomerism

(2) Ionization isomerism

(3) Coordination isomerism

(4) Geometrical isomerism

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

(1) MnO>"

(2) MnO;

3) Cr,0F

4 Croy

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Column I Column IT
a. Co®* 1. J8 B.M.
b. Cr3* ii. /35 B.M.
c. Fe* iii. 3 B.M.
d. Ni** iv. /24 BM.
v. 15 B.M.
a b c d
(1 i v i ii
@ iv i ii iii
3 i ii iii iv
@ iv v ii i

Iron carbonyl, Fe(CO)5 is

(1) dinuclear
(2) trinuclear
(3) mononuclear
(4) tetranuclear

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) tetrahedral geometry and paramagnetic
(2) square planar geometry and paramagnetic
(3) tetrahedral geometry and diamagnetic

(4) square planar geometry and diamagnetic
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155. 39 37fufsean

156.

157.

OH O™Na*
@ + CHClg + NaOH ———> @ CHO
4 wfeaferd soigi el
(1) eEFAREA (:CCly)

)
STSFATIHTIA ST (CHCly)

(2)

®
(3) wifdd gamA (CHO )

®
(4) SRFANHISA “4RH (CHCl )

FIATFfcTh 3TFAl o FaHIh THCT ATUIh GeIuH
I Ufcegssl, ISl doT I8 % foh Uchlgial 4
IAW B & | I8 Fheeh %R B B 2

(1) SIS g q67 a4 9

(2) HEfGd(cieh 3Tl ol ATTh TR TUE TS
e ATHIO Sl o g Bl &

IR 3T o a4
I SATMTIH FESIo qu 594 9

3
(4)

T Al 8 A, CgH; O 1 foh NaOI (Y i sAfufsman
NaOH & teh s ) 4 rfufshan e enerfirs

Ty 1ot fielT a8 2 @ |
A R Y 9 B
CH,

(1) CH; @ OH 3R I,
2) @— (|:H — CH, 3 I,
OH

{ ) CH, - CH, - OH i1,
HyC ~_ - CH, - OH 3R I,

3

4)

155. In the reaction

156.

157.

OH O Nat

@ + CHCl, + NaOH ——> @ CHO

the electrophile involved is

(1)  dichlorocarbene (:CCls,)

©
dichloromethyl anion (CHCl,)

®
formyl cation (CHO )

(2)
3

@
(4) dichloromethyl cation (CHCl)

Carboxylic acids have higher boiling points than
aldehydes, of
comparable molecular mass. It is due to their

(1
(2)

ketones and even alcohols
formation of intermolecular H-bonding

more extensive association of carboxylic
acid via van der Waals force of attraction

6))
(4)

formation of carboxylate ion

formation of intramolecular H-bonding

Compound A, CgH,,0, is found to react with

NaOI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

CH,

CH,4 @ OH and I,

CH — CH3 and 12
|
OH

¢ )~ CH, - CH, - OH and 1,
HyC - CH, - OH and I,

1

(2

3

4)
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158.

159.

160.

161.

162.

X, Yo 3R XY I 37wy foRioH Sleti & Fuma
1:05:1 8 | XY % fwewm i woed
AH = - 200 kJ mol™ B | X, I 31y forirsH ot
il
(1
(2)
3)
(4)

S AfHRh hT TR Hwgar 1 g1 feha ST 2,
@ I Hife Atsren & for o1ed-31my wra

(1) sufEfdd war 8

(2) T B @

(3) I 83

(4) AT BT &

TTes g TrfieRtor § HNeE Uk ‘o’ Hefd 8
(1) 79 3T & AL RN Fall &

(2) T el & He Iufedd fagd-aa &
(3) 9 33 & IGH &

(4) 79 3t & T A

400 kJ mol*
800 kJ mol ™!
100 kJ mol
200 kJ mol ™!

Teiad sriyyfsman
MnO, +Cy0% + H* — > Mn2* + CO, + Hy0

¥ o wafera w3 for R 3 T o
3

MnO; C,07- H'
L 5 16 2
2 2 16 5
3 2 5 16
4) 16 5 2

arfifsren @ fafafga & @ H-dt gen tfereman 3cme
frmfor & fore sererf 2,

A, () + By (g) = X, (g)
3= d9 U9 - T

3= 99 W@ A TE
=1 a v f= T
=1 a9 v 3= T

AH=-XkJ?
1)
(2)
(3)
(4)

158.

159.

160.

161.

162.

The bond dissociation energies of X,, Y, and XY
are in the ratio of 1: 0-5 : 1. AH for the formation
of XY is — 200 kJ mol . The bond dissociation
energy of X, will be

(1) 400 kJ mol*
(2) 800 kJ mol*
(3) 100 kJ mol*
(4) 200 kJ mol*

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1)
(2)
3
(4)

remains unchanged
is tripled

is doubled

is halved

The correction factor ‘a’ to the ideal gas equation
corresponds to

(D

forces of attraction between the
molecules

gas

(2)

electric field present between the gas
molecules

6))
4)

volume of the gas molecules
density of the gas molecules

For the redox reaction
MnOj +Cy02” + H'—— Mn®" + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO, C,07~ H'
W 5 16 2
2 2 16 5
3 2 5 16
4) 16 5 2

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay (@) +By(@ = X5(g) AH=-XkJ?
(1) High temperature and low pressure
(2)
(3)

4)

High temperature and high pressure

Low temperature and low pressure

Low temperature and high pressure
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163.

164.

165.

166.

167.

2:3 g HifHeh A YT 45 g FATTh A I TTg
H,S0, § T3 tam W 3cafsia e fasmr st KOH
% Bl ghel § TN I & | STP W &= §T 391G
T IR (g ) g

(1) 44

(2 28

3 30

4) 14

et e Uftrerufaed o fafiear 8

(1) U o Ud e | o1 8

(2) Ufieufdea ¥ 1 4 o999 91 1 > 6 B-FEF 7
(3) UMM A 154 qdgT a1 > 6 p-aeT

(4) UyemfEE g1 5 4 q999 dA 1 > 6 o-994
H

Frafafea & @ wH-@ Ifeuse 6 waifas sr<fy
Tepid & ?

(1) CaO

(2) BaO

3) BeO

(4) MgO

forieh g Tera STTshn Sgael o deH # Fmfafea #
Y HI-G1 YT HGT 8 ?

(1) T S50 QIS § 9 HeHdeeh Y
BdF |

Fhellse Td Bl $8eh IEEW ¢ |

¥ fgforarenss w@ Fifsharcns @@l & Thoehl @
A E |

T fofim Wi g guanet & @
TgEASIh Y B 8 |

el 1 AR Yae ST wiemH § i W
m-TTEINelA ot ST 8 i

(1) o (voar) aead § Uefa vefifem s mm
% ®q H Bt B |

yfoemues i Srqufeafd § Agd TR wESN
m-fefq o Smar 7

oFAeE feered srfufen # Wi W
m-ﬁ%{W‘ﬁ%l

gfaemash i Ifedfd o Srasg AEel T8 sH
et m-feufy & S #

(2)
(3)

(4)

(2)

3

4)

163.

164.

165.

166.

167.

A mixture of 2:3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO4. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

(1) 44

(2) 28

3 30

4) 14

The difference between amylose and amylopectin
is

(1) Amylose is made up of glucose and
galactose

(2) Amylopectin have 1 — 4 a-linkage and
1 — 6 p-linkage

(3) Amylose have 1—4 o-linkage and
1 — 6 p-linkage

(4) Amylopectin have 1—4 o-linkage and

1 — 6 o-linkage

Which of the following oxides is most acidic in
nature ?

(1) CaO
(2) BaO
(3) BeO
4) MgO

Regarding cross-linked or network polymers,
which of the following statements is incorrect ?

(D

They contain strong covalent bonds in their
polymer chains.

(2)
3

Examples are bakelite and melamine.

They are formed from bi- and tri-functional
monomers.

They contain covalent bonds
various linear polymer chains.

between

(4)

Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(D

In acidic (strong) medium aniline is present
as anilinium ion.

(2)

In absence of substituents nitro group
always goes to m-position.

(3) In electrophilic substitution reactions

amino group is meta directive.

4)

In spite of substituents nitro group always
goes to only m-position.

LAACH/SS/Page 37

TF T o T8 UM / SPACE FOR ROUGH WORK

Hindi/English



168. f=fafaa d @ fra 3] 4 o] g el & wrgaﬁ T [168. Which of the following molecules represents the
spz, spz, Sp, Sp HhTUT ST ST & 2 order of hybridisation sp2, sp2, sp, sp from left to

right atoms ?
(1) CH3-CH=CH-CHg
(1) CH3-CH=CH-CH;
2) CH,=CH-CH=CH

(2) 2 2 (2) CH,=CH-CH =CH,
3) CHy=CH-C=CH (3) CHy=CH-C=CH

(4 HC=C-C=CH (4 HC=C-C=CH

169. frfafed & & = et 169. Which of the following carbocations is expected to

Ifera B 2 be most stable ?
NO,
H NOy
v “0)
1) Y a
NO,
NO,
o uf)
7% CIN
v/ &
NO,
NO,
o
o ()
Y H
Y H
NO,
NO,
4) ® @ Q
)
Y H

Y H

170.ﬁﬁri%|f@ﬂﬁ©‘;|ﬁquaﬁéa—Isrma%daﬁﬁ”ow}lhfhfu .
. i the following is correct with respect to
EaLES ? (R = tfcwa e e

TR ) — I effect of the substituents ? (R = alkyl)

(1) -NRy>-OR>-F (1) -NRy>-OR>-F

(20 -NHy>-OR>-F (2) -NHy>-OR>-F
(3) —-NRy<-OR<-F (3) —-NRy<-OR<-F
(4) —-NHy<-OR<-F (4) -NH;<-OR<-F
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171.

172,

173.

174.

AAfREY e o (X) 4 il e i
Afies s@r 7 1 IR’ (X)) W Feaw ofaEen ©

3@?{7‘&@%7&1'{1 152 2g2 2p3 %,?ﬁg“{-f?ﬁ'ﬁ'ﬁ?ﬂ
T g7 7
1) MggX,
(2 MgyX
(3) MgX,
(4) Mg,X,

T I FHE & T W bee T Bt & | 900°C &
IR I fec AT | URGfdd &1 AT 8 | STRRA o HA
% 9 W TFed T 900°C A9 W Hed | 3TUTd &R
(W RIT ST 1 AR GeaHH Td AT s ar
% @y feer 8)

1
(1) 5

343
42

43
3v2

(2)
3

V3
@ =

Frafafea @ & wH-a1 FuF orgeT 8 2

1 desfTUmEFaE =R |

(2) N UTHI] T Sl fo=ama
1s2 252 2pX2py

PO LR R
T HeTeh di9 Fdien gesn ¥ fAféy & S«fs
Th QY] H UH geEgE IR FEied el 8
fféz 2 |
‘s HeTH H TG Bl A heleh BV FAT
I % R |
Frefafaa wfinfier w foem $ifsw

CN*,CN~, NO da1 CN
T ¥ frad S=au ey Hife 7 2
(1) CN
(2) CN*
(3) CN~
(4) NO

3

(4)

171.

172.

173.

174.

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 15 252 2p3, the simplest
formula for this compound is

(1) MggX,

(2) MgoX

(3) MgX,

Iron exhibits bee structure at room temperature.
Above 900°C, it transforms to fcec structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

1
(1) 5

3J3
42

43
3v2

J3

J2

Which one is a wrong statement ?

(D
(2)

(2)
3

4)

The value of m for dZ2 is zero.

The electronic configuration of N atom is
182 2% 2P; 2p; 2p;
tol (M) [PP]Y

An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

6))

4)

Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) CN
(2) CN*
(3) CN~
(4) NO
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175. Ffafaa sfufsen sf@en 4 gea 3¢ P, Q 3R R

%I TEETHT
GRS
AICl,
© + CHyCH,CH,Cl ———3 >
i) 0,
e > Q+R
(ii) H3O*/A
P Q R
OH
CH(CHj,),
6y @ CH; — CO - CHj
CH(CHy), OH
(2) @ @ CH5;CH(OH)CH,
CH,CH,CHj,4 CHO COOH
NeleNe
CH,CH,CH; CHO
(4) CH3CH, - OH

b >

176. F=fafiga # @ 9w AN fCaetem a1 doar
?7?

(1)
(2)
3
(4)

TATEEA
TAIEh ITFA
[CIEECIES)
LUERIE

175. Identify the major products P, Q and R in the

following sequence of reactions :

Anhydrous
AICI,
@ + CH3CH,CH,Cl ——3 >
(i) 0,
————>Q+R
(i1) H3O*/A
P Q R
OH
CH(CH,),
(1) @ CH; - CO — CHg
CH(CHy), OH
) CH5CH(OH)CHj
CH,CH,CH; CHO  COOH
.00
CH,CH,CH; CHO
(4) CH4CH, — OH

b b

176. Which of the following compounds can form a

zwitterion ?
(1) Glycine
(2) Benzoic acid
Acetanilide

3

Aniline

4)
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171.

178.

179.

180.

vo i wa g wife stfifmensti & &t faftrmn 2
(1) vum wife & Afufspn w1 o stfiers A
Trgaratt W v st g; g sife < stfafsean
1 97 ITfieRTes I Fgared w AW @ s
3

o whife s 3rfufskan =1 Ifa foham s gekan
; Teda =ife 1 srfirfsran &1 3R 7@t foram s
Tehel B

S9H TS <hl Aflsha Al 31d-317 [A], T s
Td #; fodfa wife 6 sifufean 1 srdamy (A,
W faf R

g Hife H Ak w1 A Afwrs H
Fgaret | R T e §; fgdm @i
arfurfshan w1 9 3fiepies it Attt WAt
HT B

CaH,, BeH,, BaH, § 3T Jehid T U 3

(1) BaH, <BeH, < CaH,

(2) BeH, < BaH, < CaH,

(3) CaH, < BeH, <BaH,

(4) BeH, < CaH, <BaH,

Jra feu U e ®, s hr et StaEen #
ied fafie fa.an. o (emf) AFT W 0T TR

- 182V - 15V
BrOy — BrO3 —— HBrO

(2)

3

(4)

Br <T0es2v B2 “1hesv
H-E TS STEHTIe 8 T 7 2
(1) HBrO
(2) Br,
(3) Bro;
(4) Bro;

form feufa & STatr & 1Tt 1w sifireman B 2

(1) 10739 a1 & ferg

(2) 1atm T 273 KW 0-00224 L St 9159 & foTw
(3) 018 g3t & faQ

(4) 18 mL < & forw

177.

178.

179.

180.

The correct difference between first- and

second-order reactions is that

(1) the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend

on reactant concentrations

(2) a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

the half-life of a first-order reaction does not
depend on [A]l); the halflife of a

second-order reaction does depend on [A]

3

the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(4)

Among CaH,, BeH,, BaH,, the order of ionic
character is
(1) BaH,; < BeH, < CaH,

(2) BeH, < BaHl, < CaH,
(3) CaH, < BeH, < BaH,
(4) BeH, < CaHy < BaH,

Consider the change in oxidation state of

Bromine corresponding to different emf values as
shown in the diagram below :

_ 182V - 15V
BrOy — BrO3 —— HBrO

Br

«— B
10652V 2 1595V

Then the species undergoing disproportionation
is

(1
(2)
3
4)

HBrO
Br,

BrOZ
Brog

In which case is the number of molecules of water
maximum ?

(1)
(2)

1072 mol of water

0-:00224 L of water vapours at 1 atm and
273 K

(3) 0-18 g of water

(4)

18 mL of water
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Awferaa 13351 &7 @ g -

1.

@ IH W S wanedl, Fes w e
EERRERTCH

Read carefully the following instructions :

1. Each candidate must show on demand his/her

. No candidate, without special permission of

Admit Card to the Invigilator.

the Superintendent or Invigilator, would

9. efer 1 Frlteres i fao erqufa & fomm :
. leave his/her seat.
s Feedl T9A1 ToH 7 BiE |
. The candidates should not Ileave the
3. HRg e + 31 IW A ﬁ{Q for uq Examination Hall without handing over their
Iuferfagas @ AN BEAIER feru fomm =8 Answer Sheet to the Invigilator on duty and
wfemelf wfien wfer =g ?ﬁ@ﬁ | 'ﬂﬁ{ et sign the Atten.dance Sheet tvvi'ce. Cases
w3 ar e = where a candidate has not signed the
& . if r ) Attendance Sheet second time will be
gEaTer T 'Feh'Q Al gg HIHT S for 3@ deemed not to have handed over the
S UA q'gi"f et % AR I3 313'%!?[ agq Answer Sheet and dealt with as an
hHT HTHAT WHT SATUT | unfair means case.
e o o ¢ . Use of Electronic/Manual Calculator is
4. SAFCIHh/[ETHTAd TlLeheTeh bl IUINT JIS(d prohibited
g |
. The candidates are governed by all Rules and
5. Tegia ° = & foru ghemeff qfierm < Regulations of the examination with regard to
ot QEI et 2 frfig § ) 313'&[?1 their conduct. in the Exz.lmmatlon Ha?l. All
> of 5 3 The & cases of unfair means will be dealt with as
FIT‘?'JT-I . . hdl & il per Rules and Regulations of this
i Td faf-remi < SafeCSIRN @TIT | examination.
6. frell ot grea d qdien jl(;\ddwl 3T 3¢ g3 |6 No part of the Test Booklet and Answer Sheet
F ﬁé AT 37T T L | shall be detached under any circumstances.
. . The candidates will write the Correct Test
7. qﬁ&ﬂ EIEEIEBIEEI( EER %quﬁm gliilﬂ;! Booklet Code as given in the Test
Hehd Rl qlraqreft Fl@ o 9 Iufeafaases o Booklet/Answer Sheet in the Attendance
fag | Sheet.
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